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1.    A binary number 1000 represents 

       (a) 8                                         (b) 16                                   (c)   32                                       (d) 64

       

       

 

2.    In the binary number system 100 + 1011 is equal to 

       (a) 1000                                    (b) 1011                              (c) 1110                                   (d) 1111

      

      

3.   If A = 1, B = 0, then in terms of Boolean algebra, A + B is equal to

       (a)  A                                      (b) B                                     (c) A                                        (d)   A+B

    

       

4.    The following truth table corresponds to the logic gate 

                               A           B           X

                               0            0           0

                               0            1           1

                               1            0           1

                               1            1           1         

       (a) NAND                              (b) OR                                   (c) AND                              (d)  XOR

        

5.     The combinations of NAND gates are shown in fig. are equivalent to 
        (a)   an OR gate and an AND gate respectively
        (b)   an AND gate and NOT gate respectively
        (c) an AND gate and an OR gate respectively
        (d) an OR gate and a NOT gate respectively
     
        

6.     For the given combination of gates , if the logic 
        states of inputs A, B, C are as  follows A= B = C = 0 and A = B = 1. C = 0, 
        then the logic states of output D are
         (s)  0,0                      (b) 0,1                      (c)  1,0                     (d)  1,1
 
        
 
7.      Which of the following logic gates is a universal gate ?
        (a) OR                                     (b) NOT                   (c) AND                      (d)  NAND
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8.     The output of OR gate is 1 

        (a) if both inputs are zero              (b) if either or both inputs are 1

        (c) only if  both inputs are 1          (d) if either input is zero. 

      

       

9.     Two NOT gates are connected at the two inputs of a NAND  gate. This combination will behave like

        (a) NAND gate                  (b) AND gate                     (c) OR gate                         (d) NOR gate 

   

10.    Two inputs of NAND gates are shorted. This gate is equivalent to 

         (a) OR gate                        (b) AND gate                     (c)  NOT gate                      (d) XOR gate

  

11.    A logic gate is an electronic circuit which 

         (a) makes logic decisions                                            (b) allows electrons flow only in one direction

        (c) works on binary algebra                                             (d) alternates  between 0 and 1 values 

      

12.   How many NAND gates are used to form AND gate? 

        (a) 1                                           (b) 2                                         (c) 3                                    (d) 4

     

13.   NAND gate is

         (a) a basic gate              (b) not a universal gate          (c) a basic universal gate       (d) a universal gate 

        

14.    The diagram  performs the logic function of 

          (a) OR gate                    (b) NOT gate                     (c)  AND gate                           (d) NAND gate

        

15.  The fundamental Logic gates ase 

       (a) OR and AND              (b) NOT and OR                (c) NAND and NOR             (d) NAND and NOT.
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